Validate	Print Help Percentage	BoQ				
Tender Inviting Autho	rity: General Manager(Civil)/ Welfare & Services, CCL, Ranchi.					
Name of Work:	Construction of Toilet at Mines Rescue Station, Ramgarh. Vio	de NIT No. 09 of	25-26.			
	Category of Services (To Be Selected by Department)		Category of Bidder(To Be Selected by Bidder)	To Be Entered by Department		
ITC Not Available	Works Contract		Bidder's Status (Mandatory)	Rate of GST (in %)	GST to be Paid By Bidder (in Rs.)	GST to be Paid By CIL/Subsidiary (in Rs.)
Name of the Bidder/ Bidding Firm / Company :			Select	18.00	0.00	0.0(
(T)			PRICE SCHEDULE			
(This BOQ template	must not be modified/replaced by the bidder and the same she	ould be upload	ed after filling the relevent colur and Values only)	nns, else the bidder is liat	ole to be rejected for this	tender. Bidders are allowed to enter the Bidder Name
NUMBER #	TEXT #	NUMBER #	TEXT #	NUMBER	NUMBER #	TEXT #
SI. No.	Item Description	Quantity	Units	Estimated Rate in Rs. P	TOTAL AMOUNT in Rs. P	TOTAL AMOUNT In Words
1	2	3	4	5	6	7
1.00	Part-A: BUILDING					
1.01	Earth work in excavation by mechanical means (Hydraulic excavator) / manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, lift upto 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m.All kinds of soil. (Refer - CCL-SOR-2024-2.8.1)	87.80	cum	188.45	16545.91	INR Sixteen Thousand Five Hundred & Forty Five and Paise Ninety One Only
1.02	Supplying and filling in plinth with Jamuna sand under floors, including watering, ramming, consolidating and dressing complete. (Refer -CCL-SOR-2024-2.27)	9.14	cum	1844.00	16854.16	INR Sixteen Thousand Eight Hundred & Fifty Four and Paise Sixteen Only
1.03	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - 1:3:6 (1 Cement : 3 coarse sand : 6 graded stone aggregate 40 mm nominal size)(Refer -CCL-SOR-2024- 4.1.6)	8.88	cum	5524.65	49058.89	INR Forty Nine Thousand &Fifty Eight and Paise Eighty Nine Only
1.04	Providing and laying in position specified grade of reinforced cement concrete, excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level :1:1.5:3 (1 cement : 1.5 coarse sand : 3 graded stone aggregate 20 mm nominal size)(Refer -CCL-SOR-2024- 5.1.2)	9.78	cum	7365.50	72034.59	INR Seventy Two Thousand &Thirty Four and Paise Fifty Nine Only

1.05	Reinforced cement concrete work in walls (any thickness), including attached pilasters, buttresses, plinth and string courses, fillets, columns, pillars, piers, abutments, posts and struts etc. up to floor five level, excluding cost of centering, shuttering, finishing and reinforcement :1:1.5:3 (1 cement : 1.5 coarse sand : 3 graded stone aggregate 20 mm nominal size) (Refer -CCL-SOR-2024- 5.2.2)	1.50	cum	8441.35	12662.03 INR Twelve Thousand Six Hundred & Sixty Two and Paise Three Only
1.06	Reinforced cement concrete work in beams, suspended floors, roofs having slope up to 15° landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases up to floor five level, excluding the cost of centering, shuttering, finishing and reinforcement, with 1:1.5:3 (1 cement : 1.5 coarse sand : 3 graded stone aggregate 20 mm nominal size). (Refer -CCL-SOR-2024- 5.3)	20.21	cum	8797.65	177800.51 INR One Lakh Seventy Seven Thousand Eight Hundred and Paise Fifty One Only
1.07	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation .5 in foundation and plith in: Cement mortar 1:6 (1 cement : 6 coarse sand) (Refer -CCL-SOR-2024- 6.1.2)	48.29	cum	5322.15	257006.62 INR Two Lakh Fifty Seven Thousand &Six and Paise Sixty Two Only
1.08	Brick work with common burnt clay F.P.S. (non modular) bricks of classdesigantion .5 in supersturcture above plinth upto loor V level in al shape and sizes In : Cement mortar 1:6 (1 cement : 6 coarse sand) (Refer -CCL-SOR-2024- 6.4.2)	17.90	cum	6494.75	116256.03 INR One Lakh Sixteen Thousand Two Hundred & Fifty Six and Paise Three Only
1.09	Half brick masonry with common burnt clay F.P.S. (non modular) bricks of class designation 5.00 in foundations and plinth in :cement mortar 1:4 (1 cement : 4 coarse sand) (Refer - CCL-SOR-2024- 6.12.2)	8.27	sqm	673.45	5569.43 INR Five Thousand Five Hundred & Sixty Nine and Paise Forty Three Only
1.10	Half brick masonry with common burnt clay F.P.S. (non modular) bricks of class designation 5.00 in superstructure above plinth level up to floor V level.Cement mortar 1:4 (1 cement :4 coarse sand) (Refer -CCL-SOR-2024- 6.13.2)	19.45	sqm	802.35	15605.71 INR Fifteen Thousand Six Hundred & Five and Paise Seventy One Only
1.11	Providing and laying damp-proof course 40 mm thick with cement concrete 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 12.5 mm nominal size). (Refer -CCL-SOR- 2024- 4.10)	14.36	sqm	318.65	4575.81 INR Four Thousand Five Hundred & Seventy Five and Paise Eighty One Only
1.12	Providing and fixing M.S. fan clamp type I or II of 16 mm dia M.S. bar, bent to shape with hooked ends in R.C.C. slabs or beams during laying, including painting the exposed portion of loop, all as per standard design complete. (Refer -CCL-SOR- 2024- 10.17)	6.00	each	150.85	905.10 INR Nine Hundred & Five and Paise Ten Only
1.13	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete upto plinth level.: Thermo-Mechanically Treated bars (Refer - CCL-SOR-2024- 5.22.6)	3149.00	kg	75.85	238851.65 INR Two Lakh Thirty Eight Thousand Eight Hundred & Fifty One and Paise Sixty Five Only
1.14	Centering and shuttering including strutting, propping etc. and removal of form for : Foundations, footings, bases of columns, etc. for mass concrete (Refer -CCL-SOR-2024- 5.9.1)	6.60	sqm	262.55	1732.83 INR One Thousand Seven Hundred & Thirty Two and Paise Eighty Three Only

1.15	Centering and shuttering including strutting, propping etc. and removal of form for : Columns, Pillars, Piers, Abutments, Posts and Struts (Refer -CCL-SOR-2024- 5.9.6)	24.30	sqm	621.80	15109.74 INR Fifteen Thousand One Hundred & Nine and Paise Seventy Four Only
1.16	Centering and shuttering including strutting, propping etc. and removal of form for :Lintels, beams, plinth beams, girders, bressumers and cantilevers (Refer -CCL-SOR-2024- 5.9.5)	64.83	sqm	470.70	30515.48 INR Thirty Thousand Five Hundred & Fifteen and Paise Forty Eight Only
1.17	Centering and shuttering including strutting, propping etc. and removal of form for :Weather shade, Chaijas, corbels etc., including edges (Refer -CCL-SOR-2024- 5.9.19)	2.48	sqm	637.65	1581.37 INR One Thousand Five Hundred & Eighty One and Paise Thirty Seven Only
1.18	Centering and shuttering including strutting, propping etc. and removal of form for :Suspended floors, roofs, landings, balconies and access platform (Refer -CCL-SOR-2024- 5.9.3)	90.61	sqm	587.10	53197.13 INR Fifty Three Thousand One Hundred & Ninety Seven and Paise Thirteen Only
1.19	Providing and laying pressed clay tiles (as per approved pattern 20 mm nominal thickness of approved size) on roofs jointed with cement mortar 1:4 (1 cement : 4 coarse sand) mixed with 2% integral water proofing compound, laid over a bed of 20 mm thick cement mortar 1:4 (1 cement : 4 coarse sand) and finished neat complete. (Refer -CCL-SOR-2024- 12.20)	82.42	sqm	483.40	39841.83 INR Thirty Nine Thousand Eight Hundred & Forty One and Paise Eighty Three Only
1.20	Providing and laying Vitrified tiles in floor in different sizes (thickness to be specified by the manufacturer) with water absorption less than 0.08% and conforming to IS:15622, of approved brand & manufacturer, in all colours and shade, laid on 20 mm thick cement mortar 1:4 (1 cement: 4 coarse sand) jointing with grey cement slurry @3.3 kg/sqm including grouting the joints with white cement and matching pigments etc. The tiles must be cut with the zero chipping diamond cutter only . Laying of tiles will be done with the notch trowel, plier, wedge, clips of required thickness, leveling system and rubber mallet for placing the tiles gently and easily. Double charge vitrified tile polished finish of size Size of Tile 600 x 600 mm (Refer -CCL-SOR-2024- 11.41A.1.1)	44.69	sqm	1067.50	47706.58 INR Forty Seven Thousand Seven Hundred & Six and Paise Fifty Eight Only
1.21	Providing and laying Vitrified tiles in different sizes (thickness to be specified by manufacturer), with water absorption less than 0.08 % and conforming to I.S. 15622, of approved make, in all colours & shade, in skirting, riser of steps, over 12 mm thick bed of cement mortar 1:3 (1 cement: 3 coarse sand), including grouting the joint with white cement & matching pigments etc. complete.Size of Tile 600x600 mm (Refer -CCL-SOR-2024- 11.46.2)	203.23	sqm	1221.20	248184.48 INR Two Lakh Forty Eight Thousand One Hundred & Eighty Four and Paise Forty Eight Only
1.22	Providing and fixing 18 mm thick gang saw cut, mirror polished, premoulded and prepolished, machine cut for kitchen platforms, vanity counters, window sills , facias and similar locations of required size, approved shade, colour and texture laid over 20 mm thick base cement mortar 1:4 (1 cement : 4 coarse sand), joints treated with white cement, mixed with matching pigment, epoxy touch ups, including rubbing, curing, moulding and polishing to edges to give high gloss finish etc. complete at all levels. Granite of any colour and shade Area of slab over 0.50 sqm (Refer -CCL-SOR-2024- 8.2.2.2)	87.37	sqm	3701.15	323369.48 INR Three Lakh Twenty Three Thousand Three Hundred & Sixty Nine and Paise Forty Eight Only

1.23	Extra for providing opening of required size & shape for wash basin/ kitchen sink in kitchen platform, vanity counter and similar location in marble/ Granite/stone work, including necessary holes for pillar taps etc. including moulding, rubbing and polishing of cut edges etc. complete.(Refer -CCL-SOR- 2024- 8.5)	6.00	each	621.20	3727.20 INR Three Thousand Seven Hundred & Twenty Seven and Paise Twenty Only
1.24	Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete. (Refer -CCL-SOR-2024- 13.80)	162.81	sqm	98.45	16028.64 INR Sixteen Thousand &Twenty Eight and Paise Sixty Four Only
1.25	6 mm cement plaster of mix : 1:3 (1 cement : 3 fine sand) (Refer -CCL-SOR-2024- 13.16.1)	51.07	sqm	195.85	10002.06 INR Ten Thousand &Two and Paise Six Only
1.26	12mm cement plaster o mix : 1 : 6 (1 cement : 6 fine sand) (Refer -CCL-SOR-2024- 13.1.2)	110.84	sqm	217.70	24129.87 INR Twenty Four Thousand One Hundred & Twenty Nin and Paise Eighty Seven Only
1.27	Finishing walls with textured exterior paint of required shade : New work (Two or more coats applied @ 3.28 ltr/10 sqm) over and including priming coat of exterior primer applied @ 2.20kg/ 10 sqm (Refer -CCL-SOR-2024- 13.45.1)	104.72	sqm	200.55	21001.60 INR Twenty One Thousand &One and Paise Sixty Only
1.28	Finishing walls with Acrylic Smooth exterior paint of required shade : 13.46.1 New work (Two or more coat applied @ 1.67 ltr/10 sqm over and including priming coat of exterior primer applied @ 2.20 kg/ 10 sqm) (Refer -CCL-SOR-2024- 13.46.1)	82.42	sqm	115.85	9548.36 INR Nine Thousand Five Hundred & Forty Eight and Paise Thirty Six Only
1.29	Distempering with oil bound washable distemper of approved brand and manufacture to give an even shade : 13.41.1 New work (two or more coats) over and including water tinnable priming coat with cement primer (Refer -CCL-SOR-2024- 13.41.1)	57.19	sqm	115.00	6576.85 INR Six Thousand Five Hundred & Seventy Six and Paise Eighty Five Only
1.30	Providing and laying 60mm thick factory made cement concrete interlocking paver block of M -30 grade made by block making machine with strong vibratory compaction, of approved size, design & shape, laid in required colour and pattern over and including 50mm thick compacted bed of coarse sand, filling the joints with fine sand etc. (Refer -CCL-SOR-2024- 16.68)	55.50	sqm	752.85	41783.18 INR Forty One Thousand Seven Hundred & Eighty Thre and Paise Eighteen Only
1.31	Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position with hold fast lugs or with dash fasteners of required dia & length. Second class teak wood (Refer -CCL-SOR-2024- 9.1.1)	0.41	cum	112158.90	45985.15 INR Forty Five Thousand Nine Hundred & Eighty Five and Paise Fifteen Only
1.32	Providing and fixing ISI marked flush door shutters conforming to IS: 2202 (Part I) non-decorative type, core of block board construction with frame of 1st class hard wood and well matched commercial 3 ply veneering with vertical grains or cross bands and face veneers on both faces of shutters: 30 mm thick including ISI marked Stainless Steel butt hinges with necessary screws (Refer -CCL-SOR-2024- 9.21.2)	5.60	sqm	1575.70	8823.92 INR Eight Thousand Eight Hundred & Twenty Three an Paise Ninety Two Only

1.33	Providing and fixing ISI marked flush door shutters conforming to IS : 2202 (Part I) decorative type, core of block board construction with frame of 1st class hard wood and well matched teak 3 ply veneering with vertical grains or cross bands and face veneers on both faces of shutters. 30 mm thick including ISI marked Stainless Steel butt hinges with necessary screws (Refer -CCL-SOR-2024- 9.20.2)	7.20	sqm	2388.75	17199.00 INR Seventeen Thousand One Hundred & Ninety Nine Only
1.34	Providing and fixing aluminium handles, ISI marked, anodised (anodic coating not less than grade AC 10 as per IS : 1868) transparent or dyed to required colour or shade, with necessary screws etc. complete : 125 mm (Refer -CCL-SOR-2024- 9.100.1)	16.00	each	51.80	828.80 INR Eight Hundred & Twenty Eight and Paise Eighty Only
1.35	Providing and fixing aluminium tower bolts, ISI marked, anodised (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade, with necessary screws etc. complete : 150x10 mm (Refer -CCL- SOR-2024- 9.97.4)	8.00	each	65.10	520.80 INR Five Hundred & Twenty and Paise Eighty Only
1.36	Providing and fixing aluminium hanging floor door stopper, ISI marked, anodised (anodic coating not less than grade AC 10 as per IS : 1868) transparent or dyed to required colour and shade, with necessary screws etc. complete. Twin rubber stopper (Refer -CCL-SOR-2024-9.101.2)	4.00	each	53.85	215.40 INR Two Hundred & Fifteen and Paise Forty Only
1.37	Providing and fixing aluminium sliding door bolts, ISI marked anodised anodic coating not less than grade AC 10 as per IS : 1868), transparent or dyed to required colour or shade, with nuts and screws etc. complete : 300x16 mm (Refer -CCL-SOR- 2024- 9.96.1)	8.00	each	223.10	1784.80 INR One Thousand Seven Hundred & Eighty Four and Paise Eighty Only
1.38	Polishing on wood work with ready mixed wax polish of approved brand and manufacture : New work (Refer -CCL-SOR-2024- 13.69.1)	39.16	sqm	121.40	4754.02 INR Four Thousand Seven Hundred & Fifty Four and Paise Two Only
1.39	Providing and fixing M.S. grills of required pattern in frames of windows etc. with M.S. flats, square or round bars etc. including priming coat with approved steel primer all complete. Fixed to steel windows by welding (Refer -CCL-SOR-2024- 9.48.1)	165.15	kg	145.60	24045.84 INR Twenty Four Thousand &Forty Five and Paise Eighty Four Only
1.40	Providing and fixing aluminium work for doors, windows, ventilators and partitions with extruded built up standard tubular sections/ appropriate Z sections and other sections of approved make conforming to IS: 733 and IS: 1285, fixing with dash fasteners of required dia and size, including necessary filling up the gaps at junctions, i.e. at top, bottom and sides with required EPDM rubber/ neoprene gasket etc. Aluminium sections shall be smooth, rust free, straight, mitred and jointed mechanically wherever required including cleat angle, Aluminium snap beading for glazing / paneling, C.P. brass / stainless steel screws, all complete as per architectural drawings and the directions of Engineer-in-charge.Anodised aluminium (anodised transparent or dyed to required shade according to IS: 1868, Minimum anodic coating of grade AC 15) (Refer -CCL-SOR-2024-21.1.1)	58.20	kg	367.10	21365.22 INR Twenty One Thousand Three Hundred & Sixty Five and Paise Twenty Two Only

1.41	Providing and fixing glazing in aluminium door, window, ventilator shutters and partitions etc. with EPDM rubber / neoprene gasket etc. complete as per the architectural drawings and the directions of engineer-in-charge.With float glass panes of 4.0 mm thickness (Refer -CCL-SOR-2024- 21.3.1)	24.37	sqm	824.65	20096.72 INR Twenty Thousand &Ninety Six and Paise Seventy Two Only
1.42	Providing and fixing stone slab with table rubbed, edges rounded and polished, of size 75x50 cm deep and 1.8 cm thick, fixed in urinal partitions by cutting a chase of appropriate width with chase cutter and embedding the stone in the chase with epoxy grout or with cement concrete 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 6 mm nominal size) as per direction of Engineer-in-charge and finished smooth.Granite Stone of approved shade (Refer -CCL-SOR-2024- 8.10.2)	3.24	sqm	3075.65	9965.11 INR Nine Thousand Nine Hundred & Sixty Five and Paise Eleven Only
1.43	Providing and fixing false ceiling at all height including providing and fixing of frame work made of special sections, power pressed from M.S. sheets and galvanized with zinc coating of 120 gms/sqm (both side inclusive) as per IS : 277 and consisting of angle cleats of size 25 mm wide x 1.6 mm thick with flanges of 27 mm and 37mm, at 1200 mm centre to centre, one flange fixed to the ceiling with dash fastener 12.5 mm dia x 50mm long with 6mm dia botts, other flange of cleat fixed to the angle hangers of 25X10x.50 mm of required length with nuts & botts of required size and other end of angle hanger fixed with intermediate G.I. channels 45x15x0.9 mm running at the spacing of 1200 mm centre to centre, to which the ceiling section 0.5 mm thick bottom wedge of 80 mm with tapered flanges of 26 mm each having lips of 10.5 mm, at 450 mm centre to centre, shall be fixed in a direction perpendicular to G.I. intermediate channel with connecting clips made out of 2.64 mm dia x 230 mm long G.I. wire at every junction, including fixing perimeter channels 0.5 mm thick 25 mm holds well scetter channels 0.5 mm thick 30 mm centre, with 25 mm long dry wall screws @ 230 mm interval, including fixing of gypsum board to ceiling section and square edges of the board with recommended jointing compound, jointing tapes, finishing with jointing compound in 3 layers covering upto 150 mm out sides of joint and two coats of primer suitable for board, all as per manufacturer's specification and also including the cost of making openings for light fitting, grills, diffusers, cutouts made with frame of perimeter chandels of lightense volume to manufacturer's specification and also including the cost of making openings for light fitting, grills, diffusers, cutouts made with frame of perimeter chandels suitably fixed, all complete as per drawings, specification and direction of the Engineer in Charge but excluding the cost of painting with 12.5 mm thick tapered edge gypsum moisture resistant boardPart 1 (Refer -CCL-SOR-2024-12.45.3)	42.65	sqm	1037.85	44264.30 INR Forty Four Thousand Two Hundred & Sixty Four and Paise Thirty Only
1.44	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20cm in depth, consolidating each deposited layer by ramming and watering, lead up to 50 m and lift upto 1.5 m. (Refer -CCL-SOR-2024- 2.25)	61.90	cum	114.40	7081.36 INR Seven Thousand &Eighty One and Paise Thirty Six Only
1.45	Providing and fixing in position collapsible steel shutters with vertical channels 20x10x2 mm and braced with flat iron diagonals 20x5 mm size, with top and bottom rail of T-iron 40x40x6 mm, with 40 mm dia steel pulleys, complete with bolts, nuts, locking arrangement, stoppers, handles, including applying a priming coat of approved steel primer. (Refer -CCL-SOR-2024-10.3)	5.80	sqm	7450.80	43214.64 INR Forty Three Thousand Two Hundred & Fourteen and Paise Sixty Four Only

1.46	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade : Two or more coats on new work (Refer -CCL-SOR-2024- 13.61.1)	16.81	sqm	99.90	1679.32 INR One Thousand Six Hundred & Seventy Nine and Paise Thirty Two Only
1.47	Providing and fixing stainless steel (Grade 304) railing made of Hollow tubes, channels, plates etc., including welding, grinding, buffing, polishing and making curvature (wherever required) and fitting the same with necessary stainless steel nuts and bolts complete, i/c fixing the railing with necessary accessories & stainless steel dash fasteners , stainless steel bolts etc., of required size, on the top of the floor or the side of waist slab with suitable arrangement as per approval of Engineer-in- charge, (for payment purpose only weight of stainless steel members shall be considered excluding fixing accessories such as nuts, bolts, fasteners etc.). (Refer -CCL-SOR-2024- 10.28)	121.77	kg	514.30	62626.31 INR Sixty Two Thousand Six Hundred & Twenty Six and Paise Thirty One Only
1.48	Making plinth protection 50 mm thick of cement concrete 1:3:6 (1 cement: 3 coarse sand : 6 graded stone aggregate 20 mm nominal size) over 75mm thick bed of dry brick ballast 40 mm nominal size, well rammed and consolidated and grouted with fine sand, including finishing the top smooth. (Refer -CCL-SOR-2024- 4.17)	14.72	sqm	551.30	8115.14 INR Eight Thousand One Hundred & Fifteen and Paise Fourteen Only
1.49	Providing steel letters and symbols over the front wall having granite facing (Analysed rate)	146.00	inch	49.20	7183.20 INR Seven Thousand One Hundred & Eighty Three and Paise Twenty Only
2.00	Part-B:SANITARY WORK				
2.01	Making of drain 150mm x150mm	62.10	mtr	751.10	46643.31 INR Forty Six Thousand Six Hundred & Forty Three and Paise Thirty One Only
2.02	Construction of septic tank of 20 users	1.00	each	50583.90	50583.90 INR Fifty Thousand Five Hundred & Eighty Three and Paise Ninety Only
2.03	Making soak pit 2.5 m diameter 3.0 metre deep with 45 x 45 cm dry brick honey comb shaft with bricks and S.W. drain pipe 100 mm diameter, 1.8 m long complete as per standard design. With common burnt clay F.P.S. (non modular) bricks of class designation 5.00. (Refer -CCL-SOR-2024- 19.32.1)	1.00	each	21806.30	21806.30 INR Twenty One Thousand Eight Hundred & Six and Paise Thirty Only
2.04	Constructing brick masonry chamber for underground C.I. inspection chamber and bends with bricks in cement mortar 1:4 (1 cement : 4 coarse sand) C.I. cover with frame (light duty) 455x610 mm internal dimensions, total weight of cover with frame to be not less than 38 kg (weight of cover 23 kg and weight of frame 15 kg), R.C.C. top slab with 1:2:4 mix (1 cement: 2 coarse sand : 4 graded stone aggregate 20 mm nominal size), foundation concrete 1:5:10 (1 cement: 5 fine sand : 10 graded stone aggregate 40 mm nominal size), inside plastering 12 mm thick with cement mortar 1:3 (1 cement : 3 coarse sand), finished smooth with a floating coat of neat cement on walls and bed concrete etc. complete as per standard design:With common burnt clay F.P.S. (non modular) bricks of class designation 5 (Refer -CCL-SOR-2024- 19.30.1.1)	5.00	each	5215.45	26077.25 INR Twenty Six Thousand &Seventy Seven and Paise Twenty Five Only

2.05	Providing and fixing white vitreous china pedestal type water closet (European type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern, including flush pipe, with manually controlled device (handle lever), conforming to IS : 7231, with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required :W.C. pan with ISI marked white solid plastic seat and lid (Refer -CCL- SOR-2024- 17.2.1)	4.00	each	4565.40	18261.60 INR Eighteen Thousand Two Hundred & Sixty One and Paise Sixty Only
2.06	Providing and fixing water closet squatting pan (Indian type W.C. pan) with 100 mm sand cast Iron P or S trap, 10 litre low level white P.V.C. flushing cistern, including flush pipe, with manually controlled device (handle lever) conforming to IS : 7231, with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required: White Vitreous china Orissa pattern W.C. pan of size 580x440 mm with integral type foot rests (Refer -CCL-SOR-2024- 17.1.1)	2.00	each	4774.45	9548.90 INR Nine Thousand Five Hundred & Forty Eight and Paise Ninety Only
2.07	Providing and fixing white vitreous china flat back half stall urinal of size 580x380x350 mm with white PVC automatic flushing cistern, with fittings, standard size C.P. brass flush pipe, spreaders with unions and clamps (all in C.P. brass) with waste fitting as per IS : 2556, C.I. trap with outlet grating and other couplings in C.P. brass, including painting of fittings and cutting and making good the walls and floors wherever required :Range of three half stall urinals with 10 lit e P.V.C.automatic flushing cistern (Refer -CCL-SOR-2024-17.5.3)	1.00	set	14723.15	14723.15 INR Fourteen Thousand Seven Hundred & Twenty Three and Paise Fifteen Only
2.08	P/F wash basin with C.I. brackets, 15 mm C.P. brass pillar taps. (Analysed rate)	6.00	each	9840.00	59040.00 INR Fifty Nine Thousand &Forty Only
2.09	Providing and fixing 600x450 mm beveled edge mirror of superior glass (of approved quality) complete with 6 mm thick hard board ground fixed to wooden cleats with C.P. brass screws and washers complete. (Refer -CCL-SOR-2024-17.31)	6.00	each	1126.55	6759.30 INR Six Thousand Seven Hundred & Fifty Nine and Paise Thirty Only
2.10	Providing and fixing PTMT liquid soap container 109 mm wide, 125 mm high and 112 mm distance from wall of standard shape with bracket of the same materials with snap fittings of approved quality and colour, weighing not less than 105 gms. (Refer - CCL-SOR-2024- 17.71)	6.00	each	127.00	762.00 INR Seven Hundred & Sixty Two Only
2.11	P/F SS towel ring on wall face with concealed fittings arrangement .(Analysed rate)	6.00	each	886.60	5319.60 INR Five Thousand Three Hundred & Nineteen and Paise Sixty Only
2.12	Providing and fixing PTMT soap Dish Holder having length of 138mm, breadth 102mm, height of 75mm with concealed fitting arrangements, weighing not less than 106 gms. (Refer -CCL-SOR-2024- 18.65)	6.00	each	84.00	504.00 INR Five Hundred & Four Only
2.13	Providing and fixing stainless steel handicap grab bar of size 381 mm and weight 1000 gm. (Analysed rate)	4.00	each	1541.90	6167.60 INR Six Thousand One Hundred & Sixty Seven and Paise Sixty Only
L					

2.14	Providing and fixing brass Bottle Trap for Wash basin and	6.00	aaab	787.20	4723.20 INR Four Thousand Seven Hundred & Twenty Three
2.14	sink.(Analysed rate)	0.00	each	787.20	and Paise Twenty Only
2.15	Providing and fixing toilet paper holder : 17.34.1 C.P. brass (Refer -CCL-SOR-2024-17.34.1)	4.00	each	553.65	2214.60 INR Two Thousand Two Hundred & Fourteen and Paise Sixty Only
2.16	Providing and fixing soil, waste and vent pipes : 100 mm dia Sand cast iron S&S pipe as per IS: 1729 (Refer -CCL-SOR- 2024- 17.35.1.1)	18.00	mtr	874.15	15734.70 INR Fifteen Thousand Seven Hundred & Thirty Four and Paise Seventy Only
2.17	Providing and fixing 100 mm sand cast Iron grating for gully trap. (Refer -CCL-SOR-2024- 17.29)	12.00	each	39.30	471.60 INR Four Hundred & Seventy One and Paise Sixty Only
2.18	19.1 Providing, laying and jointing glazed stoneware pipes class SP-1 with stiff mixture of cement mortar in the proportion of 1:1 (1 cement : 1 fine sand) including testing of joints etc. complete : 100 mm diameter (Refer -CCL-SOR-2024- 19.1.1)	33.60	mtr	302.60	10167.36 INR Ten Thousand One Hundred & Sixty Seven and Paise Thirty Six Only
2.19	Providing and fixing square-mouth S.W. gully trap class SP-1 complete with C.I. grating brick masonry chamber with water tight C.I. cover with frame o f 300 x300 mm size (inside) the weight of cover to be not less than 4.50 kg and frame to be not less than 2.70 kg as per standard design: 100x100 mm size P type With common burnt clay F.P.S. (non modular) bricks of class designation 7.5 (Refer -CCL-SOR-2024- 19.4.1.1)	1.00	each	2047.45	2047.45 INR Two Thousand &Forty Seven and Paise Forty Five Only
2.20	Providing and fixing on wall face unplasticised Rigid PVC rain water pipes conforming to IS : 13592 Type A, including jointing with seal ring conforming to IS : 5382, leaving 10 mm gap for thermal expansion, (i) Single socketed pipes. 75 mm diameter (Refer -CCL-SOR-2024- 12.41.1)	30.00	mtr	172.65	5179.50 INR Five Thousand One Hundred & Seventy Nine and Paise Fifty Only
2.21	Providing and fixing on wall face unplasticised - PVC moulded fittings/ accessories for unplasticised Rigid PVC rain water pipes conforming to IS : 13592 Type A, including jointing with seal ring conforming to IS : 5382, leaving 10 mm gap for thermal expansion Bend 87.5° 75 mm bend (Refer -CCL-SOR- 2024- 12.425.1)	18.00	each	79.70	1434.60 INR One Thousand Four Hundred & Thirty Four and Paise Sixty Only
2.22	Earth work in excavation by mechanical means (Hydraulic excavator) / manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, lift upto 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m. All kinds of soil. (Refer - CCL-SOR-2024- 2.8.1)	2.86	cum	188.45	538.97 INR Five Hundred & Thirty Eight and Paise Ninety Seven Only
2.23	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level :1:4:8 (1 Cement : 4 coarse sand : 8 graded stone aggregate 40 mm nominal size) (Refer -CCL-SOR-2024-4.8.1)	0.73	cum	5167.75	3772.46 INR Three Thousand Seven Hundred & Seventy Two and Paise Forty Six Only
2.24	Providing and fixing of Hand Shower (Health Faucet) ALD-CHR- 573 of JAQUAR made or equivalent as per direction of EIC. (Analysed rate)	4.00	nos.	1823.00	7292.00 INR Seven Thousand Two Hundred & Ninety Two Only

3.00	Part C WATER SUPPLY WORK				
3.01	Providing and placing on terrace (at all floor levels) polyethylene water storage tank, ISI : 12701 marked, with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank. (Refer -CCL-SOR-2024- 18.48)	4000.00	ltr	8.40	33600.00 INR Thirty Three Thousand Six Hundred Only
3.02	Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) : 25 mm nominal bore (Refer - CCL-SOR-2024- 18.17.1)	9.00	each	462.15	4159.35 INR Four Thousand One Hundred & Fifty Nine and Paise Thirty Five Only
3.03	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings This includes jointing of pipes & fittings with one step CPVC solvent cement ,trenching ,refilling & testing of joints complete as per direction of Engineer in Charge.25 mm nominal outer dia Pipes (Refer - CCL-SOR-2024- 18.9.3)	60.00	mtr	298.65	17919.00 INR Seventeen Thousand Nine Hundred & Nineteen Only
3.04	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply, including all CPVC plain & brass threaded fittings, i/c fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and the cost of cutting chases and making good the same including testing of joints complete as per direction of Engineer in Charge. 20 mm nominal outer dia Pipes (Refer -CCL-SOR-2024- 18.8.2)	90.00	mtr	399.20	35928.00 INR Thirty Five Thousand Nine Hundred & Twenty Eigh Only
3.05	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply, including all CPVC plain & brass threaded fittings, i/c fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and the cost of cutting chases and making good the same including testing of joints complete as per direction of Engineer in Charge. 15 mm nominal outer dia Pipes (Refer -CCL-SOR-2024- 18.8.1)	12.00	mtr	336.20	4034.40 INR Four Thousand &Thirty Four and Paise Forty Only
3.06	Providing and fixing C.P. brass long body bib cock of approved quality conforming to IS standards and weighing not less than 690 gms. 15 mm nominal bore (Refer -CCL-SOR-2024- 18.51.1)	6.00	each	615.00	3690.00 INR Three Thousand Six Hundred & Ninety Only
3.07	Providing and fixing C.P. brass stop cock (concealed) of standard design and of approved make conforming to IS:8931. 15 mm nominal bore (Refer -CCL-SOR-2024- 18.52.1)	18.00	each	516.35	9294.30 INR Nine Thousand Two Hundred & Ninety Four and Paise Thirty Only
4.00	Part- D PVC Tank Platform				

4.01	Earth work in excavation by mechanical means (Hydraulic excavator) / manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, lift upto 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m.All kinds of soil. (Refer - CCL-SOR-2024-2.8.1)	13.50	cum	188.45	2544.08 INR Two Thousand Five Hundred & Forty Four and Paise Eight Only
4.02	Supplying and filling in plinth with Jamuna sand under floors, including watering, ramming, consolidating and dressing complete. (Refer -CCL-SOR-2024-2.27)	0.68	cum	1844.00	1253.92 INR One Thousand Two Hundred & Fifty Three and Paise Ninety Two Only
4.03	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - 1:3:6 (1 Cement : 3 coarse sand : 6 graded stone aggregate 40 mm nominal size) (Refer -CCL-SOR-2024- 4.1.6)	0.68	cum	5524.65	3756.76 INR Three Thousand Seven Hundred & Fifty Six and Paise Seventy Six Only
4.04	Providing and laying in position specified grade of reinforced cement concrete, excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level :1:1:5:3 (1 cement : 1.5 coarse sand : 3 graded stone aggregate 20 mm nominal size) (Refer -CCL-SOR-2024- 5.1.2)	4.23	cum	7365.50	31156.07 INR Thirty One Thousand One Hundred & Fifty Six and Paise Seven Only
4.05	Reinforced cement concrete work in walls (any thickness), including attached pilasters, buttresses, plinth and string courses, fillets, columns, pillars, piers, abutments, posts and struts etc. up to floor five level, excluding cost of centering, shuttering, finishingand reinforcement :1:1.5:3 (1 cement : 1.5 coarse sand : 3 graded stone aggregate 20 mm nominal size) (Refer -CCL-SOR-2024-5.2.2)	1.37	cum	8441.35	11564.65 INR Eleven Thousand Five Hundred & Sixty Four and Paise Sixty Five Only
4.06	Reinforced cement concrete work in beams, suspended floors, roofs having slope up to 15° landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases up to floor five level, excluding the cost of centering, shuttering, finishing and reinforcement, with 1:1.5:3 (1 cement : 1.5 coarse sand : 3 graded stone aggregate 20 mm nominal size). (Refer -CCL-SOR-2024- 5.3)	4.14	cum	8797.65	36422.27 INR Thirty Six Thousand Four Hundred & Twenty Two and Paise Twenty Seven Only
4.07	Centering and shuttering including strutting, propping etc. and removal of form for : Foundations, footings, bases of columns, etc. for mass concrete (Refer -CCL-SOR-2024- 5.9.1)	4.62	sqm	262.55	1212.98 INR One Thousand Two Hundred & Twelve and Paise Ninety Eight Only
4.08	Centering and shuttering including strutting, propping etc. and removal of form for : Columns, Pillars, Piers, Abutments, Posts and Struts (Refer -CCL-SOR-2024-5.9.6)	13.58	sqm	621.80	8444.04 INR Eight Thousand Four Hundred & Forty Four and Paise Four Only
4.09	Centering and shuttering including strutting, propping etc. and removal of form for :Lintels, beams, plinth beams, girders, bressumers and cantilevers (Refer -CCL-SOR-2024- 5.9.5)	34.20	sqm	470.70	16097.94 INR Sixteen Thousand &Ninety Seven and Paise Ninety Four Only

4.10	Centering and shuttering including strutting, propping etc. and	18.33	sqm	587.10	10761.54 INR Ten Thousand Seven Hundred & Sixty One and
4.10	removal of form for Suspended floors, roofs, landings, balconies and access platform (Refer -CCL-SOR-2024-5.9.3)	10.00	Sqiii	007.10	Paise Fifty Four Only
4.11	Half brick masonry with common burnt clay F.P.S. (non modular) bricks of class designation 5.00 in superstructure above plinth level up to floor V level.Cement mortar 1:4 (1 cement :4 coarse sand) (Refer -CCL-SOR-2024- 6.13.2)	1.50	cum	802.35	1203.53 INR One Thousand Two Hundred & Three and Paise Fifty Three Only
4.12	12 mm thick plaster 1:6 (1 cement : 3 sand ratio) (Refer -CCL- SOR-2024- 13.1.2)	24.82	sqm	217.70	5403.31 INR Five Thousand Four Hundred & Three and Paise Thirty One Only
4.13	6 mm cement plaster of mix : 1.3 (1 cement : 3 fine sand) (Refer -CCL-SOR-2024-13.16.1)	79.10	sqm	195.85	15491.74 INR Fifteen Thousand Four Hundred & Ninety One and Paise Seventy Four Only
4.14	Finishing walls with Acrylic Smooth exterior paint of required shade :New work (Two or more coat applied @ 1.67 ltr/10 sqm over and including priming coat of exterior primer applied @ 2.20 kg/ 10 sqm) (Refer -CCL-SOR-2024- 13.46.1)	87.92	sqm	115.85	10185.53 INR Ten Thousand One Hundred & Eighty Five and Paise Fifty Three Only
4.15	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20cm in depth, consolidating each deposited layer by ramming and watering, lead up to 50 m and lift upto 1.5 m. (Refer -CCL-SOR- 2024- 2.25)	9.86	cum	114.40	1127.98 INR One Thousand One Hundred & Twenty Seven and Paise Ninety Eight Only
4.16	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete upto plinth level.: Thermo-Mechanically Treated bars (Refer - CCL-SOR-2024- 5.22.6)	974.00	kg	75.85	73877.90 INR Seventy Three Thousand Eight Hundred & Seventy Seven and Paise Ninety Only
5.00	Part-E AMC FOR 02 YEARS				
5.01	Cleaning of toilet including cleaning of dado, skirting, WC pan (Indian/Western type), wash basins , urinals, glass shelves, mirror and other fittings by hand dusting & cleaning with soap solutions, acids , deodrants, phenyl etc. to make the toilet clean & hygienic all complete as per direction of EIC. Cleaning to be done twice per day.Tools, tackeles & consumables will be paid separately. Toilets to be cleaned 2 times a (Analysed rate)	50020.00	sqm	7.39	369647.80 INR Three Lakh Sixty Nine Thousand Six Hundred & Forty Seven and Paise Eighty Only
5.02	Supplying of odonil (72 gms pack) (Analysed rate)	144.00	each	76.30	10987.20 INR Ten Thousand Nine Hundred & Eighty Seven and Paise Twenty Only
5.03	Supplying of floor mop (Analysed rate)	24.00	each	190.00	4560.00 INR Four Thousand Five Hundred & Sixty Only
5.04	Supplying of Phenyl . (Analysed rate)	250.00	ltr	47.20	11800.00 INR Eleven Thousand Eight Hundred Only
5.05	Supplying of Transparent Mug - High Quality, Durable, 1.5 Litre. (Analysed rate)	24.00	each	48.20	1156.80 INR One Thousand One Hundred & Fifty Six and Paise Eighty Only
5.06	Supplying of Double Hockey Toilet Brush - Flexible & Durable Nylon Bristles,1.5 Feet (Analysed rate)	24.00	each	97.40	2337.60 INR Two Thousand Three Hundred & Thirty Seven and Paise Sixty Only
5.07	Supplying of Naphthalene Balls (Analysed rate)	5.40	Kg	254.00	1371.60 INR One Thousand Three Hundred & Seventy One and Paise Sixty Only
5.08	Supplying of Premium Bamboo Seek/Coconut Jhadu (Broom) for cleaning floor and outdoor 1 pc (Analysed rate)	24.00	each	58.10	1394.40 INR One Thousand Three Hundred & Ninety Four and Paise Forty Only
6.00	Part F: Electrical works			-	

6.01	Wiring for light point/ fan point/ exhaust fan point/ call bell point with 1.5 sq.mm FRLS PVC insulated copper conductor single core cable in surface / recessed medium class PVC conduit, with modular switch, modular plate, suitable GI box and earthing the point with 1.5 sq.mm FRLS PVC insulated copper conductor single core cable etc. as required. Group A (Refer -CCL-SOR- E&M-2024- 1.10.1)	34.00	Point	811.00	27574.00 INR Twenty Seven Thousand Five Hundred & Seventy Four Only
6.02	Wiring for light/ power plug with 2X4 sq. mm FRLS PVC insulated copper conductor single core cable in surface/ recessed medium class PVC conduit alongwith 1 No. 4 sq. mm FRLS PVC insulated copper conductor single core cable for loop earthing as required. (Refer -CCL-SOR- E&M-2024- 1.12)	50.00	Metre	279.00	13950.00 INR Thirteen Thousand Nine Hundred & Fifty Only
6.03	Wiring for circuit/ submain wiring alongwith earth wire with the following sizes of FRLS PVC insulated copper conductor, single core cable in surface/ recessed medium class PVC conduit as required. 2 X 2.5 sq. mm + 1 X 2.5 sq. mm earth wire (Refer - CCL-SOR- E&M-2024- 1.14.2)	60.00	Metre	227.00	13620.00 INR Thirteen Thousand Six Hundred & Twenty Only
6.04	Wiring for circuit/ submain wiring alongwith earth wire with the following sizes of FRLS PVC insulated copper conductor, single core cable in surface/ recessed medium class PVC conduit as required. 2 X 4 sq. mm + 1 X 4 sq. mm earth wire (Refer -CCL-SOR- E&M-2024- 1.14.3)	20.00	Metre	279.00	5580.00 INR Five Thousand Five Hundred & Eighty Only
6.05	Supplying and fixing metal box of following sizes (nominal size) on surface or in recess with suitable size of phenolic laminated sheet cover in front including painting etc. as required. 150 mm X 150 mm X 60 mm deep (Refer -CCL-SOR- E&M-2024- 1.22.4)	6.00	Each	250.00	1500.00 INR One Thousand Five Hundred Only
6.06	Supplying and fixing following modular switch/ socket on the existing modular plate & switch box including connections but excluding modular plate etc. as required.15/16 A switch (Refer-CCL-SOR- E&M-2024- 1.24.3)	6.00	Each	129.00	774.00 INR Seven Hundred & Seventy Four Only
6.07	Supplying and fixing following modular switch/ socket on the existing modular plate & switch box including connections but excluding modular plate etc. as required.3 pin 5/6 A socket outlet (Refer -CCL-SOR- E&M-2024- 1.24.4)	15.00	Each	102.00	1530.00 INR One Thousand Five Hundred & Thirty Only
6.08	Supplying and fixing following modular switch/ socket on the existing modular plate & switch box including connections but excluding modular plate etc. as required. 6 pin 15/16 A socket outlet ISI (Refer -CCL-SOR- E&M-2024- 1.24.5)	6.00	Each	165.00	990.00 INR Nine Hundred & Ninety Only
6.09	Supplying and fixing following Modular base & cover plate on existing modular metal boxes etc. as required. 1 or 2 Module (Refer -CCL-SOR- E&M-2024- 1.28.1)	6.00	Each	107.00	642.00 INR Six Hundred & Forty Two Only
6.10	Supplying and fixing 3 pin, 5 A ceiling rose on the existing junction box/ wooden block including connections etc. as required. (Refer -CCL-SOR- E&M-2024- 1.33)	40.00	Each	69.00	2760.00 INR Two Thousand Seven Hundred & Sixty Only

6.11	Installation, testing and commissioning of pre-wired,	25.00	Each	156.00	3900.00 INR Three Thousand Nine Hundred Only
	fluorescent fitting / compact fluorescent fitting of all types, complete with all accessories and tube/lamp etc. directly on ceiling/ wall, including connections with 1.5 sq. mm FRLS PVC insulated, copper conductor, single core cable and earthing etc. as required. (Refer -CCL-SOR- E&M-2024- 1.41)				
6.12	Installation of exhaust fan in the existing opening, including making good the damage, connection, testing, commissioning etc. as required. Upto 450 mm sweep (Refer - CCL-SOR- E&M-2024- 1.50.1)	6.00	Each	346.00	2076.00 INR Two Thousand &Seventy Six Only
6.13	Supplying and fixing following way, single pole and neutral, sheet steel, MCB distribution board, 240 V, on surface/ recess, complete with tinned copper bus bar, neutral bus bar, earth bar, din bar, interconnections, powder painted including earthing etc. as required. (But without MCB/RCCB/Isolator) 6 way , Double door(Refer -CCL-SOR- E&M-2024-2.3.1)	1.00	Each	1878.00	1878.00 INR One Thousand Eight Hundred & Seventy Eight On
6.14	Supplying and fixing 5 A to 32 A rating, 240/415 V, 10 kA, "C" curve, miniature circuit breaker suitable for inductive load of following poles in the existing MCB DB complete with connections, testing and commissioning etc. as required.Single pole & neutral (Refer -CCL-SOR- E&M-2024-2.10.2)	5.00	Each	515.00	2575.00 INR Two Thousand Five Hundred & Seventy Five Only
6.15	Earthing with G.I. earth pipe 4.5 metre long, 40 mm dia including accessories, and providing masonry enclosure with cover plate having locking arrangement and watering pipe etc. with charcoal/ coke and salt as required.(Refer -CCL-SOR-E&M-2024- 5.2)	1.00	Each	5601.00	5601.00 INR Five Thousand Six Hundred & One Only
6.16	Supplying and laying 6 SWG G.I. wire at 0.50 metre below ground level for conductor earth electrode, including connection/ termination with GI thimble etc. as required. (Refer - CCL-SOR- E&M-2024- 5.7)	20.00	Metre	38.00	760.00 INR Seven Hundred & Sixty Only
6.17	Providing and supplying of LED tube 10 watt Eveready make or equivalent.(Analysed Rate)	12.00	Each	212.50	2550.00 INR Two Thousand Five Hundred & Fifty Only
6.18	Providing and supplying of LED False ceiling light. (Analysed Rate)	20.00	Each	250.00	5000.00 INR Five Thousand Only
6.19	Providing and supplying of LED light.over mirror (LEARC Designer Lighting or equivalent (Analysed Rate)	6.00	Each	2398.30	14389.80 INR Fourteen Thousand Three Hundred & Eighty Nine and Paise Eighty Only
6.20	Providing and supplying Exhaust Fan Crompton make or equivalent (300MM dia) (Analysed rate)	6.00	Each	1949.15	11694.90 INR Eleven Thousand Six Hundred & Ninety Four and Paise Ninety Only
6.21	Providing and supplying water cooler 80 Litres capacity (Voltas make or equivalent. (Analysed Rate)	2.00	Each	26855.93	53711.86 INR Fifty Three Thousand Seven Hundred & Eleven an Paise Eighty Six Only

7	Total impact of GST for the purpose of CTC	1.000	Nos	0.00	0.00	INR Zero Only
Total in Figures						INR Thirty Four Lakh Forty Two Thousand Seven Hundred & Twenty Six and Paise Seventy Seven Only
Quoted Rate in Figures			Select		0.00	INR Zero Only
Quoted Rate in Words				INR	Zero Only	